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Group Statistics

Std. Error
VAR00002 N Mean Std. Deviation Mean
ag el jee 144 )kl 12| 49.17 7.309 2.110
G 43y Hhall 10| 41.10 6.402 2.025
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Independent Samples Test

Levene's Test
for E(]llallly of
Variances t-test for Equality of Means
95% Conifidence
Interval of the
§ig.(2- | Mean | Sid.Error  Duerence
Fo| sig |t di | failed) | Difierence | Difierence | Lower | Upper
VAR00001 Equal
;?srl'l?::ggs 194 | .665 (2.724) 20 013 | 8.007 | 2.961 1.890 14.244
Equal
variances
not 2.759(19.931| .012| 8.067| 2.9242.699  14.168
assumed
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Independent Samples Test

Levene's Test
for Equality of
Variances t-test for Equality of Means
95% Confidence
Ime’l'val of the
§ig.2- | Mean | Std. Error — Duerence
F | osis. | di | failed) |Difierence | Difierence| Lower | Upper
VAR000I Equal
;?srl'l?::ggs 194 1 .665(2.724) 20 | .013  8.067 | 2.961 1.890 14.244
Equal
variances
not 2.109(19.931 .012| 8.007 2.9242.699 14.168
assumed
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Ha: 1 # 2
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